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AC is the diameter 
of the circle.
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AB  and BC are the 
radiuses of the circle.





How to calculate: 
(r is the radius/ d is the diameter)

Diameter: d=2     (r)

Radius:   r = 
𝑑

2
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The distance around a circle is “circumference”.

circumference

diameter
Л (= 3.14)

is the same for all 
circles.



How to calculate the circumference:

C (circumference) = Л d 

C (circumference) = Л 2     r   



5 cm

Find the circumference. 

C (circumference) = Л d 

C (circumference) = Л 2     r 

C= 3.14         2       5         31.4



Find the circumference. 

d= 4cm

C (circumference) = Л d 

C (circumference) = Л 2     r 

C= 3.14         4           12.56










